



**Vendor Ranking** 

Page 1 of 1

**Letting:** 05230209 February 09, 2023 2:00PM **Call Order:** 007 **Contract:** E5X55-R0

District: District 5 Counties: ORANGE, SEMINOLE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 44192817206 (\*)

Contract Desc: Drainage Repair

Ranl	k <b>V</b> endor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	NATIONAL WATER MAIN CLEANING CO	Responsive	Winning bid	\$770,175.00	100.00%
2	LMR CONSTRUCTION, INC.	Responsive	Non-Winning Bid	\$778,125.00	101.03%
3	FLOTECH ENVIRONMENTAL LLC	Responsive	Non-Winning Bid	\$894,000.00	116.08%
4	TIMOTHY ROSE CONTRACTING, INC.	Responsive	Non-Winning Bid	\$902,862.50	117.23%
5	MAER HOMES, LLC	Responsive	Non-Winning Bid	\$1,019,875.00	132.42%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





#### **Tabulation of Bids**

Page 1 of 6

**Letting:** 05230209 February 09, 2023 **Call Order:** 007 **Contract:** E5X55-R0

District: District 5 Counties: ORANGE, SEMINOLE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 44192817206 (\*)

Contract Descr: Drainage Repair

FDOT District 5

Proposal ID No.: E5X55

Financial Project No.: 441928-1-72-06

Fiscal Year: 2023

Counties: Seminole & Orange

Calendar Days: 365

This is a Maintenance Work Document driven Contract with a Budgetary Ceiling of \$500,000. This Contract has an option for renewal.

#### Intent:

The Work under this Contract includes storm water pipe desilting, video, lining and structure cleaning on State maintained roadways in various locations in Seminole and Orange Counties on an as-needed basis.

#### Experience:

For this Contract the Contractor is required to have at least three (3) years of experience in the performance of Drainage Repair, or the Project Superintendent must have at least three (3) years of like experience as a Superintendent. A Contractor that presently has a certificate of prequalification with the Department in "Drainage" will suffice to meet the above requirements.

#### Note:

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Department estimated quantities and the Contractors bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed. For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work.

Line No / Item ID Item Description	Alternate	Quantity Units	(1) NATIONAL CLEANI		(2) LMR CONST	RUCTION, INC.		OTECH IENTAL LLC
() indicates item is bid as	Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 00	001 (R	EPAIR/REPL	ACE STRM-SIDE	-CROSS DRAIN(L	_F			
0005 0430950		25.000	75.00000	1,875.00	150.00000	3,750.00	200.00000	5,000.00
DESILTING CONCRETE	BOX CULVER	Г СҮ						



Page 2 of 6

# Florida Department of Transportation



# **Tabulation of Bids**

Letting	<b>g</b> : 05	5230209 F	ebruary 09, 2	023 <b>Ca</b>	II Order: 007		Contract:	E5X55-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) NATIONAL CLEAN		(2) LMR CONST	RUCTION, INC.		OTECH IENTAL LLC
() inc	dicates item is bi	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(REPAIR/REPL	ACE STRM-SIDE	-CROSS DRAIN(I	_F			
	E425 73 1 Ing manhole Anical)	ES AND INLETS	100.000 EA	1.00000	100.00	150.00000	15,000.00	100.00000	10,000.00
0015 DESILT	E430 94 1 PIPE, 0 to 24"		5,500.000 LF	5.00000	27,500.00	7.25000	39,875.00	5.50000	30,250.00
0020 DESILT	E430 94 2 PIPE, 25-36"		2,250.000 LF	10.00000	22,500.00	9.00000	20,250.00	7.00000	15,750.00
0025 DESILT	E430 94 3 PIPE, 37-48"		1,250.000 LF	15.00000	18,750.00	15.00000	18,750.00	10.00000	12,500.00
0030 DESILT	E430 94 4 PIPE, 49-60"		250.000 LF	18.00000	4,500.00	18.00000	4,500.00	20.00000	5,000.00
0035 DESILT	E430 94 5 PIPE, 61" OR	GREATER	750.000 LF	24.00000	18,000.00	25.00000	18,750.00	20.00000	15,000.00
0040 PIPE LII	E431 1 21 NER, CURED	IN PLACE, 0-24	1,250.000 ' LF	116.00000	145,000.00	110.00000	137,500.00	135.00000	168,750.00
0045 PIPE LII	E431 1 22 NER, CURED	IN PLACE, 25-3	750.000 6" LF	184.00000	138,000.00	175.00000	131,250.00	242.00000	181,500.00
0050 PIPE LII	E431 1 23 NER, CURED	IN PLACE, 37-4	400.000 8" LF	263.00000	105,200.00	250.00000	100,000.00	385.00000	154,000.00





# **Tabulation of Bids**

Page 3 of 6

Letting	: 05230209	February 09, 2	023 <b>Ca</b> l	II Order: 007		Contract:	E5X55-R0	
	No / Item ID Alterna Description	ite Quantity Units	(1) NATIONAL CLEANI		(2) LMR CONST	RUCTION, INC.		OTECH MENTAL LLC
	icates item is bid as Lump Sum	1	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(REPAIR/REPL	ACE STRM-SIDE	-CROSS DRAIN(I	_F			
	E431 124 IER, CURED IN PLACE, 49	250.000 9-60" LF	620.00000	155,000.00	590.00000	147,500.00	566.00000	141,500.00
	E431 1 25 IER, CURED IN PLACE, 61 ER	150.000 I" AND LF	725.00000	108,750.00	690.00000	103,500.00	990.00000	148,500.00
	E432 4 SEWER INSPECTION (VIC A)	12,500.000 DEO LF	2.00000	25,000.00	3,00000	37,500.00	0.50000	6,250.00
	EPAIR/REPLACE STRM- SIDE-CROSS DRAIN(LF)	Section Totals:		\$770,175.00		\$778,125.00		\$894,000.00
	Contract (	Grand Totals:		\$770,175.00		\$778,125.00		894,000.00





# **Tabulation of Bids**

Page 4 of 6

Lettin	<b>g</b> : 05	5230209 F	ebruary 09, 2	023 <b>Ca</b> l	II Order: 007		Contract:	E5X55-R0	
	No / Item ID	Alternate	Quantity Units	(4) TIMOTI CONTRAC		(5) MAER H	OMES, LLC		
	dicates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(REPAIR/REPL	ACE STRM-SIDE	CROSS DRAIN(L	.F			
0005 DESILT	0430950 ING CONCRE	TE BOX CULVE	25.000 ERT CY	95.00000	2,375.00	125.00000	3,125.00		
	E425 73 1 ING MANHOLE ANICAL)	ES AND INLETS	100.000 EA	198.00000	19,800.00	100.00000	10,000.00		
0015 DESILT	E430 94 1 PIPE, 0 to 24"		5,500.000 LF	6.00000	33,000.00	4.00000	22,000.00		
0020 DESILT	E430 94 2 PIPE, 25-36"		2,250.000 LF	7.50000	16,875.00	7.00000	15,750.00		
0025 DESILT	E430 94 3 PIPE, 37-48"		1,250.000 LF	8.00000	10,000.00	10.00000	12,500.00		
0030 DESILT	E430 94 4 PIPE, 49-60"		250.000 LF	22.00000	5,500.00	18.00000	4,500.00		
0035 DESILT	E430 94 5 PIPE, 61" OR	GREATER	750.000 LF	25.75000	19,312.50	18.00000	13,500.00		
0040 PIPE LI	E431 1 21 INER, CURED	IN PLACE, 0-24	1,250.000 ." LF	122.50000	153,125.00	150.00000	187,500.00		
0045 PIPE LI	E431 1 22 INER, CURED	IN PLACE, 25-3	750.000 6° LF	214.00000	160,500.00	240.00000	180,000.00		





### **Tabulation of Bids**

Page 5 of 6

Letting:	05230209	February 09, 20	023 <b>Cal</b>	<b>Order:</b> 007		Contract:	E5X55-R0	
Line No / Item Item Descripti		Quantity Units	(4) TIMOTH CONTRACT		(5) MAER HO	OMES, LLC		
	is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	(REPAIR/REPL	ACE STRM-SIDE-	CROSS DRAIN(L	F			
0050 E431 1 : PIPE LINER, CUR	23 ED IN PLACE, 37-4	400.000 48" LF	325.00000	130,000.00	390.00000	156,000.00		
0055 E431 1 : PIPE LINER, CUR	24 ED IN PLACE, 49-6	250.000 60" LF	620.00000	155,000.00	700.00000	175,000.00		
0060 E431 1 : PIPE LINER, CUR GREATER	25 ED IN PLACE, 61"	150.000 AND LF	995,00000	149,250.00	1,350.00000	202,500.00		
0065 E432 4 STORM SEWER I CAMERA)	NSPECTION (VIDE	12,500.000 EO LF	3.85000	48,125.00	3.00000	37,500.00		
	EPLACE STRM- Se OSS DRAIN(LF)	ection Totals:		\$902,862.50		\$1,019,875.00		

**Contract Grand Totals:** 

\$902,862.50

\$1,019,875.00



02/16/2023

### **Tabulation of Bids**

Page 6 of 6

**Letting:** 05230209 February 09, 2023 **Call Order:** 007 **Contract:** E5X55-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.